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Max Marks: 100

N.B. (1) All questions are compulsory
(2) Figures to the right indicate full marks
(3) Graph papers will be provided on request & ;\‘ :
(4) Use of simple non-programmable calculator is allowec}

of Rs 62.40. How many shares did he purshés‘ Fs . £
b) A person sold 400 shares at Rs. ?s@eacﬁ pﬁying 0‘5% ‘
received by hlm? Qa8

.....

redeemed all the units whan?\lbe\NAY wa&RsQQO 50 What\was the total gam‘? What was
the rate of return? There mrgnolows (‘Numﬁzer of un_its was rounded off upto 3 decimal

places.) S s e (5)
d) Mr. Sachin mvestgd,Rs\%DﬂQm%’mutqal ﬂ i 7].‘ijzemts NAV was Rs.

66.11. On SIOM%%mc\eivedadimdmd@ Rs g # unit; Fmd the total dividend

received w@m, 15 ' : *";»‘;3‘“ 5)

e) An mvestabffwfzsﬁé\& ﬂmﬂ’ on thQQ‘!‘t of a%ry mgnth for 5 months in an SIP of a

mutualafwid*Th@N}A\l\kéntheséfdatqﬁwn&Rs -33:2€Rs 28.25, Rs. 35.57, Rs. 38.45

l

andtﬁf _21 327qsf{cct1vely ‘Thege was sa‘mé ermy(load of 2.22% for all these months. Find

S

- -‘-ul
~ ;
\

‘the_vavérags Qaiequ)smqn eqst per um‘t o &)

S Q:AuumFMﬁmhfcuwg
@) m;}mw’)mny difﬁrent ways can the lctters of the word “FRIDAY” be arranged? Also
'_'_ ﬂnﬁmowﬂmmy of” these begm, wnh D. (5

4\,\

\g ,“f’ 6@0 pedplé cdnTamsA males and 6 females. A committee of 5 is to be formed,
(&)
)

&S é) smve ths' LPB graphlc_glly\
Max\zéww
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Paper / Subject Code: 80910 / Mathematical & Statistical 'l‘ec__-s‘-i

d) Solve the LPP graphically:
MinZ=7x+y
subject to
x+4yz4
3x+y=3
i PRI
f) A diet of a sick person must contain atleast 4:9({0” , S

"-." "-,\

1400 calories. Two foods F1 and F2 gm avmhlil& cossbo& mmn@s‘ fqbuﬁxf

respectively. If one unit of F1 m&ﬂﬁ me of vmmmt;,i m a:;@.‘&()

-—-\

calories and one unit of F2 wmw of \ﬂﬁnm% 2 u’fﬁ oT.mmﬁals and 20

calories. \A’%.C o \;:_\ TR Rt SERES
i %"‘E’H A DFTE =SS

-5 b ®)

)

)

rg’preSgnts the marlgs of ]_SQ students i a class. Calculate Qi & Qs and

hemft; mélnﬁa the goe?ﬁtléntof uarnké db\gx 1ation.. ()
S N : : 40-60 60-80 80-100

50 24 16

g (asTmc\wm&ht of forty children living ina colony. Calculate
(5

25-30 \

Gl )

15-20 20-25
12 10

o 4 e) Cal | f e«ﬁ\é Qﬂrﬂbme méa.tl of the two groups for the following data and hence check

conslstent (5)

Group 1 Group 11
100 200
50 45
5 3
: Page 20f4
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Q.4 Attempt any FOUR of the following

a) One ticket is drawn at random from a set of 20 tickets numl;éged
probability that number of the ticket drawn is divisible by 2\0#3?# :

s .".)-\’;- .

T o .:“.. N

VTR =
b) If A and B are two independent events and P(A)=-- PéB)?_wIﬁhfi P(A
(where A’ is complement of A) Tors e S

¢) Three unbiased coins are toss at a time. Fmd th

d) In a group of 125 students, 70 passed_ihmnﬂlémau : ‘-'355

‘ﬁ S ,
passed i i and 30 passed

in both. What is the probability that aﬁnﬂﬂnueleqfed atra ! @ﬁmmw¢0}®min one
subject  (ii) in only one subject. > ’.‘-: : e P (5)
¢) Explain Random variable, P@hbihtﬁ? dl!“:\ qbﬁtl ', : s Ex} ¢ :
example. , K (5)
QS Attempt any FOUR of the fllo wi
a) Explam the term Oppd': Uity loss ‘D&wsmn‘lhq‘qry{szn haw the optimal
" Op "tyaia% (5)

&)
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Code: 80910 / Mathematical & Statistical Techniqoes-

Paper / Subject

*

o

<

T

4,
L
L

Yo}

States of nature

Ei

15
13
17
0.5

Action

Probabili

d) Given the pay-off matrix, solve the decision problem us

given

ion tree for the

18

.

¢) Draw adec

Y

Type of Polic
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Paper / Subject Code: 80908 / Business Communication-I

Time : Three Hours

Proxemics

Decoding
E-mail

& W

Consensus

Moodle

n

. Business Etiquette

Twitter

& 3 D

j édhmcal Language

‘»-\u

WhatsApp

05

iv. Music

Language
barriers.

iii. Mechanical iv. Semantic

t
.
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d. gives legal validity to a letter.
i. Subject line ii. Signature iii. Enclosures .« . v. D:
e. scans incoming mails :

i. Virus protection  ii. CD
software

Q. 2 Write short notes on (Any Four)
a. Horizontal Communication : ‘
b. Grapevine Y
c. Body language
d. Social Media

f. Feedback
Q. 3 Answer any two of thg ﬁ)liovufmg :'_L. \\1 '-ﬁ ' 20
a. Explain theterm psycholﬂglcal barrie:,s Discuss ﬁl de!ml aﬁv ﬂl'ee psychological
barrxerﬂchﬁlmumcamm ‘_ TSRS oy

b. Deﬁnc Imtenmg Jalscuss ﬁbstacles to hstenmg and méasm to overcome them.

c. _Ekaaih Busmessg Ethscs Discuss the rolé and 1mportanoe of Business Ethics in the
WOﬂ&,tOd’é{ ¥ S ]

Q 4«Draﬂ.a re(ply in response to the followmg advemsement 10
“A mputMublﬁhmg house rEqulres fuhior Accountants. Interested commerce
uates familiar with Tally and the use of computers , may send their application with

mume‘w%thm@ days té PO Box 1720 The Times Of India, Mumbai — 400001™

£ ‘.l
¢

Q. 5~B£aﬂ2fhé fbllowing ietters (Any Four) 20

o P .a'._ ;f' ehfqz Azm IWWISﬁQQ to pursue a Post Graduate degree in Global Markets and
: Equmcs ﬁom Perth University. Draft an SOP on behalf of Ms. Behroz

:-Draﬁ a [gc.ommendatlon letter for Ms. Shalini Monteiro of the HR department of

2 'ciut mg_am;ﬁﬁon who wishes to apply for the post of an Asst. Manager ( HR)

Page 2 0f 6
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o e et R

e mm LA WAIA) s AFEAS AR SAARAN-GERANF AR TR

G

: Mr Roshan Sen, a new intern with Athithi Intematiogalfh\as disp{aywd exemplm
presence of mind and decision making skills dunmg adlfé t;hma@nmg m§’m¢h5t

Mr. Rajat Gaur, the newly. «il;;p mted_ ram:h‘* Ma,nage& at Rehable"Bmka behevcd that
matiers concerning the wm'kttig efﬂwhank must bemuted thmugh the various channels of
hierarchy. He did not eﬁcoumge staff iﬁ mqet,hgn,wAs a resui‘t Eﬁ&tﬁf dime was spent in
maiters being dealt with at uar’bus Tevels of the. hierarchy, befox;e finall: Qreachmg Mr Rajat.
This created dlssanﬁfactmn ambng s:aft also delayéd*ﬂec” ori n\akmg affected the bank’s

28

03

02
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L.

3T

,_?8
Rt X

\)4.

(2 ¥ hours)
N.B (1) All questions are compulsory
(2) All questions have internal choice

The Eightfold path was given by
(Jesus Christ, Buddha, Mahavira)
Among the states,

(Kerala, Maharashtra, Haryana) =~ "o o007 =00
is the main &a@oap’fﬁ‘rmle“ﬁmmgé‘
(Preference for male child, Urm’npbg?“ﬁmn{, Crbbafsamnj
isa ﬁmmqfsocﬁl vpience agamst wq '

Belgaum border dlspu& Bbﬁvbén 'States Of Karmml‘cg EfEMaﬁamm & i
example of @e%lorn‘lm lingumn Casteﬁmﬂ
....................... anses rbl.lt b’f\hﬂgx)us‘ mammansnl S

“,z,“}ﬁmcmns ahhe wnage jeveL‘
@ﬁ :Pmba,d‘ Parchayat Samifi;: Gram Penclinyat)
3 ‘ofthc htdaan Cbmtjtut{on is related to

: -
e g Y

y*thc iblhwmg &mtemeqt’s are ‘“True’ or ‘False’: (any seven) 07)

mphr ﬁﬁlﬁx of popti’anon

pa

21; mwgni Jl'ﬂib\:’ls Mngh in rural areas as compared to urban areas.

#&fer caiahci ,g]abcorm cis‘ the second most common cause of blindness.
Naﬂ:ml‘-L tituté‘@ Mentally Handicapped is located at Secunderabad.

gﬁ‘tﬂ*sxﬁsmffns miﬁed an egalitarian society.
“P&ﬁzﬂ;ﬂ fice is feaningless without economic justice.

"j‘{?.a Be,glonal ‘com do not damage the integrity and unity of the nation.

lﬁ’i&ﬁbﬁl emgrgency can be declared under Article 360 of the Indian Constitution.

Ao

““Municip R pal’ Gommissioner is appointed by the State Government.

1-Q5‘Pal‘wxphik)n of women in politics in India is very heartening.
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Paper / Subject Code: 80907 / Business Economics-I - "’4 g

Duration 3 Hours Fa
Please check whether you have got the right questum puper. Al '
1. All Questions are compulsory - Vol :
2. All questions have internal choices
3. Use of simple calculator is permitted
4. Figures to the right indicate full marks
5. Draw neat diagrams wherever necessary

revenue increases more than cost
b) cost reduces more than revenue
¢) both a) and b)

None of the above

b) direct

c) no

d) None of these
i) ‘““““lmﬁal gooﬁs‘;demandcurvels S
a) upward SlepmgLf ~ oS, :
o downwataglﬁp‘ﬁg@ A el g S
€) vemgﬁm@@*( Ime P& IR ‘v ik

d) hoanmtaf stralgh’tline oy S :
iv): Wcﬁwﬂa obierv e 'ﬁi‘érket
a)..-Pc?tEcmmnp&ﬂt@_r T i
‘..:"b9 Munp"pb”g, A ISR S
c) mne@kﬁcgbmpﬂmon b
5 - W) If gemand~:§;pn¢qe}astw, thnn
L e A ams&iﬂgpﬁcaWﬂlmme\toml?Wenue
i b} afallin p}'wqmll {alse.ft)tal fevenue.
*' c)%» a f'all in pﬁc’é«m mcrease the quantity demanded.

B e b det s
¥

—r

!

ey ""'q;"ﬁ)

’u

ey

d)x a ﬁse in pn&“wdn‘;thavp any effect on total revenues.
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+ aper/ dupject Code: 80907 / Business Economics-1 :
KoY S ;

vi) Which of the following is a limitation of consumer clinic meltndﬁfdumnd

forecasting? e ot

a) Abnonnal consumer behavior f:_-"_; - “'_-.'7 =

b) Expensive P ' AR

¢) Neither a nor b S =

d) Both a and b SIS
vii) Short run production function includes b R '_:r‘_.':: e .

a) only Fixed factors SRR S TR

b) only Variable factors FFEITI T SF S

¢) both fixed and variable factors eSS o ‘_--";:',- oS

d) None of the above A”* ( '?_' =8 _':-?\-""'“4 AT
viii) The narrowing distance between sé&ssﬁm lsoqmn[s (i.'.mns o % ‘f‘-_k““';*‘

a) Increasing returns to scale R RSl ey 3*.'_-' ~

b) Decreasing returns to scale PR S S _-""_; s

¢) Constant returns to scale - AP T

d) None of the above 5 S i'_'_,‘? 2Ty o

ix) Which of the followmg lsanexample of Intentmlﬁ:om n{S@!
a) Labour Economxes

b) Technical Econﬁnﬁes

¢) Managerial Econnmies 2 - 3 il —-
d) All of the above S8 : '. % ,;' -; \ P

b) TEC curye >
c) aTW\c'urve :

’“) The dlﬁ'efehce béthen prlvate aad soeial ‘cost is due to
way eppomgm,\z cost’
b) dimirushmg margma{’ lhty -

o ‘ r_ﬁer&tq aﬁ unavmdable cost which cannot be recovered.
S Na) Opportumt)moeit‘ &
72 b)Sunk coste > s &
B RgaLeost A;,.i“_‘ ‘
‘_d) !mphcx cost

Page 2 of 9
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Paper / Subject Code: 80907 / Business Economies-I

1. B) Write whether the following statements are true or false (Any Ten)
i. Demand is desire backed by willingness and ability to pay. >

ii. Opportunity costs can always be measured in terms of money':
iii. Under monopoly market, when TR is increasing MR is nﬁggtwe. s

iv. When the demand is perfectly elastic, the demand curve wﬂl be a vemedL ré;ghbi
v., Demand curve under monopoly is perfectly inelastic..- ;

vi. Long term forecasts are required for capital mvestments

vii. Technology is variable in long run production functloﬁ‘ 3

viii. MRTS is measured as AK/ AL T _
ix. A firm experiences increasing returns of scaIe duato technoluglcal advancémems e
X. Impllclt costs are measured as opportumty i;est :.;;;-:'} o 23 e A o :

X1,
Xil.
2.  AttemptAand BORCand DS 0 7 87 700 S 08
A) Discuss the scope of study ofﬁusméssﬁitonomws e A e AR B O 07
B) Given the following data cak:ufapé Tk Aj{;ﬁnd MR Aiso 1dcnt1fy the market structure 08
and state the relationshlp bethEnTR ARand MR s
Output (Unit) R 4»‘{ - ‘5““3"75 6 7 %
Price (Rs.) " <10 10
C) Write an expla@g notebntﬁ?nsg ef margxhaba.nhlysis m @v;\clsmn making in 07

v ST SIS

" business. Q i A B ;

D)‘ The demqnﬁ ﬂmcti:onfﬁrﬁwlﬁmdﬂﬁy lsgu&n asQ;L 40 0 1P and its supply function 08

({ Y is glvemﬁwQs* -“‘29 -ﬁ«D:»QP Make a sehe&gfe of demand and supply at prices Rs.100/-,
Rs. 2001 R _Ml- ab& Rs 40(}7- Fﬁ\dﬁhe equihbrium price and quantity.

L

- A‘ttalint :A anﬁB O'R G an;l 1) o
A) Sﬁmaﬁ&e&plam Yhe ]a‘ :ofdemand Wﬂte the asg,umptlons and exceptlons to thelaw 07

= '_\i;-C) What is: demﬁndfdl‘eeastmg" What is the significance of demand forecasting? 07
r’“"»D) & mqwe‘ chm;ge,d Rs 100/ per ticket and sold 500Q. tickets per show. When the 08
: 'fr__pnce ﬁf“«ﬁekets was\ra,;sad tﬁ Rs. 125/- the theatre was able to sell only 450 tlckets
Estlmam pﬂce elasnaty“of d“emand for movie tlckets Is it beneficial for the theatre to

',QD

(~

,«Attempt A smd B OR Cand D
: A) ”Deﬁﬁ&&ﬁoqua@ts:ﬂWhat are the properties of isoquants? 07
wf‘V\f’ha.'t is’ mga:uf?by diseconomies of scale? Discuss the various internal and external 08

dlsscﬁmmws Cof scale.

Page 3 of 9
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OR

C) What is meant by Economies of Scope? How is it different from Economsm of Scaie'?« ‘07
D) The following table shows total product of a firm due to mcrc;aﬁ in labour mbﬁf@sedan 08

combination with a fixed input of capital:

Paper / Subject Code: 80907 / Business Economics-I

e \

=

Labour input (Units) i R 2 3

3

_~5 ;-:,' 7

-:.-:“7

Total Product (Units) | 0 | 50 | 110 | 180

[

770

N . m= =

282

i) Calculate average proc product and margm@_product

ii) Name and mark the three stages of law of variable propomommﬂae ﬁble
iii) In whlch stage will a rational producer dpeitate" Justlfy yow answer. .

g e

- _Q- = e

-
—
=

R

8. Attempt A and BOR C and D o ' > 3
A) Explain the nature and relationship betWem AEC AVC, ATE MMC cutves cf a ﬁnn 07
B) Given TFC = Rs. 55/-, calculate TC AFQ:, AVC&R&MC ST e 08 |
Output (Units) 0 <> oF S : s B SRR K '_;5 l
TVC (Rs) G 3@‘ 5 "55 S 75 lﬂsl N 155 225 |
¥ : ﬂR : < ]I
C) What is meant by break -even ;)bmt‘fﬂow is break-even poilmhmmmd 07
D) For a hypothetical ﬁrm, lf pricq mf\prodlmt is Rs.BOI ']'H‘ﬂfﬂs.w and AVC is 08
Rs.30/-, then 4 R N
i) Calculate breaket‘e’an output for thls ﬁrm (O n S
ii) At the or:gmai T&' C and AVC how does breakévmqmdlige if price rises to
Rs. 130/ F.58 s
iii) At the ongmal ane and TFC What w:ll be the bmlk:um qnmt\ if AVC rises to
Rs. 60/-7; & 2
iv) At the Origmat grlce and AVC what willbe tir Ini even quantity if TFC rises to
Rs. 600@1— 3 : 3

_1., P ‘\“"
i

6. Atrempf A and‘)l:OR Wm’e Shorth[o‘tu on any four:
A) .Deﬁne mcem‘c elastmq of demand Exg[mntlt degrees of income elasticity of demand 10

S jusmg\cxamples FENEN
) :"Deﬁvethé tong uty mferage cost cm:ye nnd write its features. 10
ol : b AC TR = OR
“\ ; .'WnteS[:m;tNotea\qn anj four > 20
anctlons aﬁﬁ equat:oﬁs

11 Prhmoﬁoﬂat elasﬁmty ﬁf demand
id. rTypeso”f 1sgqqants :

o Olw Egpnnsmn gﬂth 5

SV Accountmgand eébnomnc cost

% _\,gw ,;Apphcag‘ions of breai@even analysis

FEEERERRREERRETES
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Paper / Subject Code: 80906 / Commerce- I

o zﬁ-,.;._‘é._.ii-..a_ -u—-‘\.?_)._.

[Time: 3 Hours]
N.B: 1. All questions are compulsory. Q
-] 2. Figures to the right indicate full marks. S

1. (a) Fillinthe blanks with suitable options glven belaw (auyhlﬂ)r N ..

(1) Mmmg and Oil exploratlon are the examples 0 B ; mdustrle

=
wt

(2)
~ (Modern, Traditional P_mﬁt m?kmg)
(3) Survival and growth are;thc‘ % Z{ A ob_]cCﬁ‘vé"
(social , organic eboncumc) )\ S

(4) Suppliers form apagf (ﬁ' enmmmnent

(internal , quro- : maéro)

-'r.v.l

[TURN OVER
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\k

(b) éwhether followi

m
2)
3)
C)
(5)
(6)
(7)

(8)

~ Paper/ Subject Cos

Industry is an in '

"y etV M B Aot

)

ML ATEY

Business

India's ex

B

g

Business et

Business 0



& o

p

i €
! fie
A W.
b1
. 5
£ =
L
g = 8
o .m.me.w.
~ f=| -
d..
g 23 =
= = =
® o .w.m =
£ e &
G-
- -
2 T 5 2 m =
= mmm.m :
7 s EaE T 2 B
x S = B B 2
ﬂ - mmw m.ma
= P°E = e S
=}
B & = = g o P
= B B L =8
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Paper / Subject Code: 80905 / Accountancy & Financial Management- Paper I

| 3 Hours |

Please check whether you have got the right question éaper

N.B:
Figures in brackets to the right in

e

questions 2 to 6.

5. Use of simple calculator is allowed.

1. A) State whether the following statements

1) Change in the Method of Deprecnatlon on Fmed Asset

per AS-1.

Strictly avoid resorting to any unfair means during the exammahons. A
full marks allotted to tine questmn
Working notes should form part of your answers.: ‘
All six questions are compulsory, although,

dicate

N

-
'\'

are True or Falie-( ny 10)

2)  Valuation of Stock of goods in tmde is d()ne at COSI only

3)  Interest on asset purchased on ﬁireygnchase basis is charged by fhe vendor
4) Revenue expenditure includes cost of. lmprovmg the stbrage capac;
computer by changing the hard disk. ' : W
Trading Expenses are deblted o Profit and Loss A/c

<« 5)

6) Balance sheet shows the pmﬁtablhty of the urgamzatlon

7)  Departmental accuuntmg hclps to determine profit ot loss of each department.

8) When Departmeﬂt A transfers: goods to; Department B,
debited and DepaMent B Ak xs\credltcd ¥

9) Lighting is allocafed on the basis: of 1 horse power 0

departmen‘t‘. S

Under lee puﬂ:hase systcm, deprematson is charged cn lhe Hire Purchase Price

10)

of the Asset. ; . 2
1) Thc djsclqsuté 6f31gmficam accountmg pohcnes 15 mandatorv as per AS-1.
12) ‘,Dmdénd re::ewed on shares is a Capital Receipt.

riate answers in column B. (Any 10) :

s needs 10. bc dxsciased as -

tyof"a

Department A alc is

f eqmpmems installed by each

B) Match the colu,mn A w‘ith most approp

Coluqm»A Column B
& =1 -Method\ef»sioék \?atuemon a | Allocated on the basis of sales
-2 | Accounting Standard 9 . FIFO method
43 Drawmg by pmpnetbr < | Added to purchases in manufacturing
b e O QT account
4 ' Capltal Expendlture ! d | Evaluation of performance of each
e department
A3 “Basiq rule for Vaiuatloh of stock e | Fundamental Accounting assumptions
(S -Wéi\g ited Average thethod f | Purchase of Fixed assets.
T ‘,Accnunnng\Stﬁhdarﬁ‘ < g | Financing Activities
{ '8} Import duty of purchase of Raw b | Initial payment at the time of hire purchase
| material - VG agreement
9. Selhng Expenses | Lower of Cost or Net realizable Value
DI ;,hoym.l?axmgnt j | Revenue Recognition
SEAE ,_jDﬁi?@,_i‘tmémaLaccounting k | Debited to capital account
“|12°| Capital receipt 1 Total Cost of Inventory/ Total Units of
AR inventory
V873427 Page 1 of 12
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'iw)

e

S .- S

there are mternal Optmns in case of SR
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B Paper / Subject Code: 80905 / Accountancy & Financial Management~ Paperd o S S

e
-~

2. From the following Trial Balance of Mr. Shivprasad, prepare Manul‘aétu}mg’Aecoﬁnt,(ls) ke
Trading Account, Profit and Loss Account for the year endedI31%‘Mq{gch;;'Q;Q;lsr"ﬁrg'd;_-jf_
Balance Sheet as on that date : & 2, ;—F‘l T:f‘t--' 7
Trial Balance of Mr. Shivprasad as on 31% March, 2018 PRI S
K Particulars Dr.(¥) ﬁ_f_ Cl"(")
Sales TESIT TR 5
Debors 8 770 SR AT

Opening Stock - Raw Material T 5:9,000 SRR L

Y.

| Opening stock - Work in Progress ; ¥ 70,000
Opening Stock - Finished Goods g w 1‘00,000 S
Purchase of Raw Material & alF 16:00006 B S “
Carriage Inward on Raw Material .« 89‘000 ap 5 :;"- FFEES “
Direct Wages £ T3 'Jjgs,oog_ e, |
Rent (75% for factory) ” %, o 80,000‘ =
Drawings _-f"“'_;sf.:::;'r SRIEW ! 5 A 18;000 T

Creditors * R A2 R ‘~".-_2_§0‘0,000
Cash at Bank 2 ’ ‘  ;‘7_.’-5;(_).0_0' A ks
Salaries ) S 738000 _ |

70, e

Discount Allowednl,‘_ J ‘

Coptial Aopl 0 S 8 I R B R TIE 11,00,000
T o

“Total | 3800000 | 3800000

Bt

Machinery &

Following further information is provided :
| Closing stosk-as’on, 31" March, 2018~
* Raw Material 60,000, W orkein-Progress ¥ 70,000, Finished goods ¥ 1,05,000.
2. Depteciate Machinety @5%.p.2- 2
. Durmg the ygé;r"‘;g\bqﬂ_s '-:cost_i'rig"f??;{),OOO were distributed as free samples which
& jTef‘r\;ai‘_ned‘;flw_'nr'ec:‘or&dd,{ el SESFe
'8 'Oﬁ'SYd"_-S'eﬁtethbefr;' 2017, there was a fire in the godown of Mr. Shivprasad, destroying
" goods worth Tl O;D(louﬁmbh- ificludes £4,000 raw material and 6,000 finished goods,
&7, insurgtm"e ‘E:Qfﬁpfgly admitted the claim for £8,000.This transaction was not recorded in
the hdpka._, e
ﬂg_-RéSerVé fo} Doubtful Debts @ 5% on Sundry Debtors.
R L OR

LI Provi
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Paper / Subject Code: 80905 / Accountancy & Financial Management- Paper I =

R 2. From the following Trial Balance of Mr. Girija, prepare Manufacturing Account, 'I‘ra\dmg (15)
Account, Profit and Loss Account for the year ended 31* March, 2018 and the Balance
Sheet as on that date : o ¥y VA

Y Trial Balance of Mr. Girija as on 31% March, 2018 s
SEe Particulars Dr: (%) & [ SR
S Goodwill :.‘@,42,00‘0;- *“ s o
Purchase of Raw Material ‘1:1;‘,24;000‘")‘
Capital S R T T IR o S

Carriage inward “L' 31 00(1‘1..;.:5 Lt I e
| Bills Receivable / Bills payable 5 1,00, 000". S SERATNLS ey

Opening Stock - Raw Material Faw IS 50 000":‘-: Foee “ i
" & 560001“' EA ISR

A
d T
: I

Opening stock - Work in Progress i

t Opening Stock - Finished Goods iy R .V .1 19000 . ‘
Sales UL SRR \’;:515;:32,000

Direct Wages TP FS RSy ‘-:“"_'-1_3‘,42,0007
Factory Power and Fuel &+ \\ z 53,000 S |
Machinery \“ 4 | ; 9,60,'0'.'_0(}‘ \ ’

CashatBank  ro S fos Sod SRR 1,60,00

Office Salaries

Selling and DlstribunoxﬂExpenses N “, «'_-‘5-"_.29000
Creditors &0 2 N ; G ¥ 86,000
Sale ofsgr%fp-.‘_ AT I e 7,000
SundryDeblos . oo S So o] 1,50,000

& | w\» S EeR i STl 37,15,000 37,15,000

Folluwmg further lnfnrmahon is provided tn ‘you :
. Closing stock as on3 I"‘Maréh, 2018 is ;
~ RawMaterial %‘*85,090 Work-m—progress 758,000 and Finished Goods 90,000.
2. On28® March 2013 Fimshed gQOds COStmg 710,000 were sent on sale or approval basis
"4 @“20% on coét. Thesa;goOds were not approved till 31% March, 2018. The effect for the
sare needs'to be’ givemas tht, nme for approval was not expired.
3. Y'-IZ)eprex:xahisﬂ'vlatclrnmary @.5% p.a.
4. [nclUcfed in Debtu?% Account an amount of 12,000 receivable from one customer Mr.
.~ Harshad. He is also our suppller for 10,000 which was included in Creditors Account, It
was deciﬂed to ad_lust Mr Harshad’s Accounts against each other.

N f'c_‘

X 5‘73_.4_2 £ Page 3 of 12
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Paper / Subject Code: 80905 / Accountancy & Financial Management- Paper I

%

3. M/s. Spandan Transport purchased a Bus on Hire Purchase basis from M/s. Vol\;o‘l.td *oa (15)-'
19 January, 2015. The cash price of the Bus was ¥30,00,000. An initial payment of ¢ 12 00 ﬁﬂf) -
was made on the date of purchase. The balance was paid in 3 annual msfhllments excludlng
interest as follows: : e

31.12.2015 ¥6,50,000
31.12.2016 Z6,00,000
31.12.2017 ¥5,50,000

M/s. Volvo Ltd. charged interest @ 10% p.a. and" M/s Spandan Transpcrt charged
Depreciation @ 15% p.a. on Written Down Value Mcthod You are; requlred 1o pf’epare Bus
Account and M/s. Volvo Ltd. A/c. in the books of M/s “Spandan TranSpOrt for 3 ycars endmg
31.12.2015, 31.12.2016 and 31.12.2017. SIS EERTELS SR TEE

3. From the following information prepare Departmental Tradmg and P(@fit & LOSS a(:count fof (15)
the year ending 3 1% March, 2018 in the books of Ganesh Super Market '

Particulars DepartmentA(?) DepgrtmehtB(s) Total ("2‘)
Opening Stock 250000 [T 400000 ~ | 636,000
Purchases 1‘0000005-\" Q3 '8=OQ?000_' 5 - 18,00,000
Sales 22;50,000 o 15,00:000 - 37.50,000
Wages 360007 {7 100000 < | 5 250,000
Office Salaries ) S P e A s, /o
Discount allowed ' 5 | __ T 4 K f <l 2,20,000
Discount Received SO R FRESE 72,000
Rentpaid Da'q o A R B 16,000

j\

Additional qu&rmation 2
1) Steck in hand as 0113]5‘ March 2018 Department A %8,50,000.
- gty Department B £7,00,000.
2) Oﬂwcestgﬁ“ appomted Jéy Dept. A 10, persons & Dept. B 5 persons
3): ,Areameupned by:Dept. A 1000 sq. R. & Dept. B 600 sq. ft.
4) Daprec;atmn on furniture was 2 13,000 which was allocated in Dept. A & B equally.
5) _Geods transférfed fwm Depf A to Dept B was ¥4,00,000.

4, F ollgwmg lsfthe mformatxon relaled to'purchases and sales of goods made by Jai Enterprise in (15)
the morith of March 2018. Find out-from the given information.
i a)' T~he value of Closmg Stock as on 31* March, 2018 using Weighted Average Price
Method
Cost Qf Goods Sald for the month of March, 2018.
L) Sales and Gross Proﬁt for the month of March, 2018.

1s Dat'e VP o Vel Particular Units Rate
103- 03;2618' ‘S‘a‘les, ' 1,500 600
06-03 20L8 Ptjxghases 3,500 500
13~03 2018“ S‘éles 4,000 700
| 57342 -' Page 4 of 12
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4,

18-03-2018 | Purchase Return from purchase of 6" March

20-03-2018 Purchases

22-03-2018 Sales Return out of sale of 3rd March

25-03-2018 Sales

27-03-2018 Purchases

30-03-2018 Sales

31-03-2018 Purchase
Stock on 1% March, 2018 was 3,000 units @ ¥400 per umt

\ ub"‘

OR S : -
From the following particulars of Chaitanya Gamaﬁts“p}epm Tradmg& Prqﬁt & Loss {15)'-
account of two departments’ i.e. Garment & Cosmencs fol' ﬂlea&agegdéa gt Mam}*r"QOlS
Particulars Garment Dept. ('t)\ &L %)
65,000 'j,;.v

Opening Stock 50;000\

Purchases

= ~ 160 000" 55

Sales

2,80,000

Salaries

JQJ?LOU:‘"&

General expenses
Rent & Rates
Carriage Inward
Carriage Outward
Discount allowed
Discount received < & §
Travelling Expeng.ezs'\_(‘::f'i\; £
Insurance charges < -~ - ,
Additional In{ormgtum% Vo w  GF S T
1) Genera:i cxpensba ‘& Insﬂrame‘are to\be allocateﬂpqually

2) Area qccgpleﬁ by Garznsm\& Casmetlc departnient are in the ratio of 4:1.

3) Clasmgvstock of ¢ Garment Dept is zl 20 OOQ“& that of Cosmetic Dept. is 60,000.
Other expensés & hleome tobe_allocated between tW() departments on suitable basis.

Car:iage \p&;a fo(ibgngng naw chhlnery 225,000.
Sdld oldﬁustgﬁs car for 32, 505000
3 Insurante Rﬁefmm(g paid 28, 000 to General Insurance Company for insurance of

g “Plant. IR
4 Loanﬂrepaid*%i, 2‘5 ODO W’lﬁ?:h was taken from State Bank of India.
5

Pmd tax consultancy fecs 240,000 to CA Deshpande for the year ended 31% March,
201&-. it it _"‘;' ;:.

¢S 6 Cest 61‘ impﬂwmg seating capacity of cinema hall £7,00,000.

m acmrgr purchased raw material of ¥1,50,000 and produced goods worth

P “ gsgn 00 0()9 and sold 50% of the same for £2,00,000 to M/s Raj Traders.

OR
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Paper / Subject Code: 80905 / Accountancy & Financial Management—“l?np_e}r;l

S. Find out the value of closing stock of M/s Max Litd. using FIFO and WeLghtcd&Ver?ige(lg)
Methods from the following data: : e T e S

Date Particulars Unit - K
08-03-2018 Sales 500 5~ A5 xS
20-03-2018 Sales KOO0 ] 800
31-03-2018 | Sales '--"--1-"500 S e
12-03-2018 Purchases o b,ZGO ) R Y
15-03-2018 Purchases R IO s 600~
23-03-2018 Purchases S e 500_ 700" "
Opening stock on 1% March, 2018 was 800 uru’ts@ 500 per umt LERRES] g
6. Answer the following : SRS SIS T :l" T DB
a) Explain Accounting Standards and state the adv:antages of AccountmgStandards (10)
b) Explain features of Hire Purchase Agreementa £ S SRt et (10)
r_"‘;‘ . 2 OR, = 2 : -
6. Write Short notes on any four: dgthe followlng § v ‘-94 £ ' (20)

a) Limitations and advantages of Wnghted Average Method af Stock Valuation.
b) Revenue Expendlture YoR : £

¢) Adjustment entries in Fmal Accountsi :

d) Trading Account ahd Profit & Loss Act.ount
e) Main f‘eature;s of AS&Q Revenue Recogmtmn
) Fundamental Accountmg Assumphons as per AS 3

"«.. 2

57342 “ , | Page 6 of 12
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[Time: 3 Hours]

Please check whether you have got the ri ght‘questlpn paper
All questions are compulsory and carry equalmarks s -5 _'
Use of map stencils and simple calculator i is allt)w«:d NP o
Use of coloured pens, pencils is allowed. .
Attach the given map along with your answgf“boc;l?

N N

x' 3

Q.1 a)  Study the following thematic map of tbe wGrLd am;i

by -~
N R o =
& :.“\- X ‘{ 7 % k. .

W'I'ION Ol" POPUM’I'ION

S .-

§ = Population 100 millions )
1) What lSilﬂ Lﬁeme'bfthe mape7 P n .;T': AP \':;‘ £ '. o ._';‘ ﬁ 02
ii)  Which'cartographic technique is used to repfessnt the theme? 02
iii) Nam&,ﬂwtgvo bnuntr;es having,,ht ghest popul;atmn in Asia? 02
iv) 1 ) C frica?. 02
V) 02
Q.1 b);s;{,-?-‘ fa 10
' map t)f the wor]d sUpphcd to. ytoti
(} b AD area in Indla haying’ physical water searcny
, St ‘A cbumrxxwlfh hlghes; de?olestanan rate in South America.
‘-« gl < 111) The busﬂ:st atea of qeean fransport
3 w) hondon S i
R ’TE'OPIQ ofC*apflcom
; Any land l@ckqd oounnj mﬂ Africa. X
U T’he Great Ausltﬂhan DeSert
& Atterﬁpt any%WO fvbm the following: 20

Explam haw the ﬁlotlc components of environment influence the human
activities? —

'Qescanthe dynamnc role of man as both destructor and protector of
env;rdnment‘?

Page 1 of §
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Describe in details the methods of conservation of wat
h
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Paper / Subject Code: 80909 / Environmental Studies -1

Classify the energy resources according to the
Which are the causes of population exp

Explain the National Population Policy o

Describe the Demograp

Attempt any two from the foll
Attempt any two from the following

Describe the

A)
B)
C)
A)
B)
C)

Q.3

Q4

\

OWIng

Page 2 of §

ain

Magnet of Mig

known as the *

o s
Y

.

Attémpt any two from the foll
ai is

Define “Smart City?” Expl

Mumb:

A)
B)
©

Q.5
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